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® AB=DC @ /ABE = /CDF

® AABE = ACDF @ AE//CF

@)aE-CE
~&B

AABE ¢} ACDF o4 /AEB = /CFD = 90°
AB=CD

/ABE = (CDF (37}

. AABE = ACDF (RHA &%)

.. AE//CF, AE = CF
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B A4WE ABCD o WRe @ A P £ AL u,
APCD, APAD, APBC 9] Yo]x= Z+Z}F 10cm? , 8cm? , 22cm? 9]
th.APAB 9] Yo]=?

D

@ 10cm? @ 15cm? @ 18cm?
C(‘Q%cm2 ® 22cm?

APAD + APBC = APAB + APCD
8+ 22 = APAB + 10
.. APAB = 20(cm?)




@ 45°,3cm @ 45°,5cm ®)55°, 3cm

@ 55°,5cm ® 60°,3cm

~&B

£C =110°, «EDC = 35°, /DEC = 180° - 110° - 35° = 35°

o|ct,
(DEC = /CDE ©°]1l, CE=CD =5°]|E2 BE =8-5 =
3(cm) o]t}

(FDA = 35° ©]1, /DAF = 55° °|B2 /BAF = 110 - 55 =
55° °|t}.
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OABCD & HaAH o] 22 AQ = CO °o|B&2
EO =AO-AE=CO-FC=FO, BO =DO °|t}.




7. AB=100m¢% FYPAHF ABCD & H P
E AN B 7AWz 5me] £E2, H Q
£ 7m8 £E2 C oA D 2 o]Fstal 3.
PTASETH42FQrtHECEE
et nAPCQ7E ARG o] H= A2
Q7 ST A ¥ = 59712

DAPCQ 7F BRAAF O] H2{H AP = CQ 7 Hojof stRs
Q 7} o155 A7 x (&) 2 5FA P 7} o] 57 A7 x + 4
(Z) ol

AP =5(x+4), CQ="Tx,5(x+4) ="7x

. x=10 (&)o]t},
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9. TS 7o WPAHE ABCD A a + b
of F2?

D)19cm @ 20cm ® 2lcm

@ 22cm ® 23cm

/DAF = /CEF (.- 597}

(BAE = (CFE (.- 91z}

ACEF & °15842g0] 59| CE = CF, b = 8am
ADAF & ©|5#47H40] 511, BABCD o4] AB = DO °|
ng

AD=DF=a=b+DC=8+3=1lcm

" a+b=11+8=19(cm)




10.

YA ABCD oflA] £A, £C & o] 574
AB, CD g].nh,].l— .8 2 71—71—E F ﬂ-
o}, AB = 6cm, BC = 4cm, Z/ADC =
° Y wj, DAECF ¢] Ed]9] Zdo]=?
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@ 10cm @)}12cm ® 1l4cm

@ 16cm ® 18cm

~&B

AADF, ABEC oA AD = BC, DF = BE, /EBC = /ADF
o|B & SAS §-50]1 pAECF += H Aot}

(ADF = 60°, /BAD = 120°, /FAD = 60° |22, /AFD =
60° o]lB =2

AADF, ABEC &= A4z o|tt,

AE=AB-BE=6-4=2 (cm) o]t}

J= B2 YPAYP AECF 9 =d=
AE4+ECHCF+AF=2+4+2+4=12(cm) °Jth




11. o5 799 BPAAF ABCD A BE = __-10em._
CE ©]1 AD = 10cm,AB = 7cm ¢ W,DF .
o dole? fem,

® 7cm @ 9cm (@)14(:111 B
@ 16cm ® 18cm

B ~

AABE = AFCE,AB = FC = 7cm
~.DF = DC + FC = 14(cm)




12 T;]-—— j_Fﬂ__,] 1 o“/\‘l-hﬂ ! ABCD Oﬂ 1 E = A H

BF=CG= DH°1[q1 oEFGH &= H33At E
o] Hok, 1 o]fE 12H?
G
B'F C
@ BH=FG @ EH//FG , BF//HG
® EH//FG ,EH=FG @rF = TG , Tl = TG

® /EFG = /GHE

AAEH = ACGF(SASEHS)
ABFE = ADHG(SASE%)
~EF=HG,EH=FG




13. o 23 o] YA ABCD o] 7+ W] 3-8 Fot AF £f
CE, AG ¢ CH o w3& 247 P, Q 2t & u, 0ABCD £ A ¢J 3t
HYPAHF-S 0AECG , oAFCH , DAPCQ ©|t}. Z12+e] F3yApd
Fol B 270 AR de 227

® 6,0,© ® @60 ®e.6.0
® 3,0 6 6 0 6 6

DAECGE AE//GCo|1
ODAFCHE AH //FCo|1 AH = FC o]
ODAPCQ+= AP //QColx ]
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7}7%)] DABCD = B34S
/ABE =| (7}) |, .ZEDF = /FDC
] DEBFD% P YA ﬁél X
B=[ (4 |olmz 5B =50
%, /ABE=| (°b) |---®
(AEB=| (th) |(%Zh)| (7)) |=<CFD (SiZ)o|2&
/AEB = /CFD

/DEB = /180° - ZAEB=| (°h) |---©

@, ©°] 2J5to] pEBFD &= HPAHAG o]},

[%ﬂ%
(58]

® (7} : EBF @ (4): D @) (b : 2aBE

@ (<)) : LEDF ® (1) : /DFB

® /AEB®} (EBF = 9lZto 2 Zith




15. o I"37} 22 FPAPHE ABCD of| A
FHP. Q=7
OABCD 9] Yo]7} 36cm? ¥ W, oEBQF
o] yol=?
@9(;1112 @ 12cm? @ 18cm?

@ 20cm? ® 22cm?

B

BD, PQ 9] wH& Ot 514 APEO 2F AQFO ©f|A
PO = QO, /EPO = /FQO, /POE = /QOF
. APEO = AQFO (ASA %)

OEBQF = APBQ = Z—ILDABCD =9 (cm?)




